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0 Analog Mobile Communication

» AMPS ( Advanced Mobile Phone Services )
-800MHz 0 O 25 MHz O O
-83200 30KHzOOO OO OO
* FM  ( Frequency Modulation )
» FDMA ( Frequency Division Mobile Communication )
« CellOO (OO Km)
-0d0 ooo
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0 Cellular Structure

00 800MHzO OO0 0OOO
000 OO : 824 ~849 MHz
0000 :30KHz(FM), 0OO OO :FDMA

(849 -824) x 106/ 30 x 103 = 832 channels
832 channels /2 O - (21 control channels ) = 416 channels / O
416 channels / 7 cells ~57 0 0 0O /cell-O
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0 Digital Mobile Communication

Wireless Access

- TDMA ( Time Division Multiple Access )

- CDMA ( Code Division Multiple Access )
Why Digital ?

-ISDNOO OO0O0O0

-00/000 OO ODOOd

-RFOOOOOO, OODO ODDOOO
TDMA

-0 0 GSM ( Global System for Mobile Communications )

-gois-54 (0000 OooOoOgg )
CDMA

-0 0 Qualcomm 0O, 1S-95 00
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0 Communication Structure

BSC : Base Station Controller

MSC : Mobile Switching Center

VLR : Visitor Location Register

SC
HLR : Home Location Register
AUC : Authentication Center
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k; RAND  IMSI
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0 GSM SessionKey OO 0O0OO0O
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k; = DESy (IMSI)

RAND  IMSI

k, 128 00
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, [ NEI, ARN’, ASN' ])

* NEI ( Network Equipment Identifier )
* ARN ( Authentication Random Number )
* ASN ( Authentication Serial Number)
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e; = (k)?> mod n
e, = DES,(IMSI || ¢)
compute DES 1, (IMSI || c)

. check if ¢ = g(IMSI)
Certificate (OO O )

c =7 h(IMSI) mod n,




